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(English Version)

Note : (1) lfﬂu must write the subject-code/ paper-code 026/B in the box provided on the
title page of your answer-book.

(i)  Make sure that the answer-book contains 28 pages (including title page) and

are properly serialled as soon as you receive it.

(it1) Question/s attempted after leaving blank page/s in the answer-book would not
be evaluated.

(iv) This question paper has a total of 6 questions. Every question must be
answered.

(v) The marks of each question are written in front.

(vi) A simple calculator can be used.

1. Choose the correct option (MCQ). Each correct answer will carry one mark. 20x1=20

(1) The goods which satisfy the human wants directly, are known as .1
(a) Producer goods (b) Capital goods
‘(/Q}/ Consumer goods (d) Intermediate goods
(11) Who is considered to be the Father of Modern Macroeconomics ? 1
(a) Adam Smith () J.M. Keynes
(¢) Ricardo (d) Malthus
(iii) How much was the per capita Income of India when India became 1
independent ?
1) T 230 b) T 220
() T 240 (d T 250

: eg/instituti repares the economic plans in
(iv) Which of the following bodies/institutions P p ;

India at present ? |
(a) National Development Council
(b) Ministry of Finance
(¢) Planning Commission

NITI Aayog
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(v} The flow of goods and services is called

(a) Real flow (b)  Monetary flow
(¢) Economic flow (d) None of these
; . , . }'
(V1) The system in which goods are exchanged for goods is called
(a) Exchange system (h)  Goods for goods system
(c) Barter system (d) Transfer system
v
(a) 100 (b) 10
©71 (d) 0
. /
(viii) A tax which cannot be shifted to others is direct tax. (True/False) il ]
(x)  Fixed exchange rate is determined by _ ;
(a) central bank /@)( Government
(c) Both (a) and (b) (d) None of these
(x) Deficient demand results in . | ’
\/ﬂf Excess Demand {,b) Inﬂatiunary gap
(c) Inflation Deflationary gap

(xi)  In order to control deficient deman government expenditure and deficit

financing should be decreased. (True/False)

(xii) When the coefficient of correlation is zero, then there js
between the given variables.

,.IT
(a) No Wé‘atiun (b) Low degree of correlation
(c) High degree of correlation (d) Perfect correlation ‘

—_——— _ in

(xiii) Index numbers can be used to measure the change in the

- _ level. ]
(a) Demand (h) _APrice
(¢)  Supply (d) Vincume
(xiv)  Per capita cultivable land in Indja 1s less than 0-2 hectares (True/Falge) j
o~ T § < Ser i

026/B-SS 14
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(xv)  Which of the following is the main feature of the new industrial policy ? !
(a)  Liberalization (b} Privatization
() Glnbali.zation (d) All of these
(xvi) Economic inequalities have due to economic reforms. I
(a) decreased (b) increased
(¢) remained same (d! None of these
(xvil) Moneylenders are a non-institutional source of rural credit. ('True/False) 1
(xviii) Which of the following is a determinant of human capital formation ? 1
(a) Spread of education (b) Better health facilities
(¢) Migration (dy All of these
«xix) Which of the following tvpe of unemployment is found in India ? 1
(a) Seasonal unemployment (b) Disguised unemployment
(¢) Educated unemployment d)  All of these
(xx) Which of the following is a cause of environmental degradation ? v11
, (a) Population explosion
(b) Rapid industrialization
(¢ Lack of awareness among people
(@) All of these
"
, 4 Read the ﬁ:}llawmg paragraph and answ er the questions given bEI”“" 4"‘1"'4

| @ orden tﬂ sustain human life and qfur enjoying a quality hfe certain natura]
conditions must prevail around human beings, which is also called environment.
C@nwrnnment consists of air, water, sunhght ete. All these components of N
Envlrnnj;nent are hlghlyr 1mpm‘t‘ant for emstence of life on Earth. Through these
components, environment. promotes the existence of life on Earth. Environment
affects the quality of life on Earth, the better the quality of environment, the better is
the health of people and the quality of llf% Environment supplies physical resources

in the form of natural resources. These resources prove highly useful in the growth
are the basis of the productive process in any country.

rocess. In fact, resources
p Environment helps in the disposal of

@01}0]1110 activities generate a lot of waste. | - -
these wastes through the natural process. This helps in keeping the surrounding of

people cleanD

026/B-SS 15 [Turn over

(3 scanned with OKEN Scanner



; , » s i i ]
(1) How is the environment helpful for economic activities ?

s : ; 1
(1) Which are the main components of environment ?
(1) How can a good quality human life be enjoyed on Earth ?
: . : : 1
(iv)  What is the importance of environment ?
i ions i d e sentence. Each question
3. Answer the following 16 questions in one word or on
: 16x1=16
carries 1 mark.
0¥ What is migration ? .
G What is meant by jobless growth in India ? I
i) What are the various components of the Indian system of medicine,
YUSH ? ' 1
(1Y) What is environment ? 1
A  What is correlation ? 1
(71)  Name any two problems involved in the construction of index numbers. | 1 J
(Vi) Which sector of the economy is the owner of factors of production ? 1
)(ﬂ‘{)' Name any one method of calculating national income bi

W’hat is meant by near money ?

)iﬂ What is the concept of invﬂlunj,ar‘y unemployment 7

o
ja(], What is the problem gPﬂ'e/FIcient demand ?

1
Xﬁﬁ What is a balanced budget ?
| v/
(xii1) What is foreign exchange rate ? -3
1
MJ What do you mean by an under-developed economy ?
- 1
(rv)  What do you understand by liberalizat;
tio ‘
/;rv e np adopted under economic reforms
| 1
(xvi) What do you mean by rural development, ?
1
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4 Answer the ﬁlllﬁwing 4

S nthy » 2 Questions in 10 - 15 words. Each question carries
na 43&:3
1) What are the two typex of mfl‘ﬂ!!tl‘urtuw 9 2
) Describe anyv two me )
‘asures under '
deficient demand monetary policy to solve the problem of ,
di) - Caleulate Pimary Deficit when 2
I}e o T (in crores)
‘a)  Fiscal Deficit 17,000 crore
Interest paid b
(b) mmiit y 400 crore
av}  Write any two problems of backwardness of Indian agriculture. 2
5. Answer the following 5 questions in 60 — 70 words. Each question carries
4 marks. There is internal choice in each question. 5x4=20

(1) The following data shows marks obtained by 10 students in Economics and

Statistics :
Sr.No. 1 ,2-L ] 6 7 8 9 10
.E’;‘::r:i:medm 20 |44 133 43 35 56 39 13 51 43
b= e —— e ——— e — . —_— - — -|~ - -
Marks obtained in 36 .50 57 ',52 58 66 |67 45 174 73
t_St&t_.lBthS BTy re e { _[_H B | S I ]
Find the Coefficient of Rank Correlation. P

OR

Calculate Price Index Number for the year 2020, by taking 2015 as base year,
with the help of Weighted Average Relative Price method :

il
e g T

S —

-

Commodities o B e E
'Price in 2015Iin Rupees) on - u _‘ = | 4 @ 32
Pnce in 2020(m Rupt_e_efl_ B 13 . 3_1 ; _?i___,__ 32 ; f‘f_ e
w:'g‘;t‘; 9 1 M4 12 | 6
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(11) Distinguish betwaen'_Stock and Flow

4
OR
Explain any four functions of Commercial bank.

L

Explain Average Propensity to Cunsu@?(‘,}/ with the help of a diagram. 4
OR

The MPC in an economy
much will the
< 650 crore ?

(111)

e

is 0-80 and National Income is ¥ 400 crore. How

total National Income be if the increased investment is

(iv)  What do you know about NITI Aayog ?

OR

Give any four measures that were adopted for liberalization in India in
1991. https:ﬂwww.punjabboardonIine.com

(v)

Describe any four problems in the

OR
Explain main sources of energy in India.

way of human capital formation in India. 4

Answer the following questions in 150 — 200 words. Each question carries
6 marks.

2x6=12
(1) What is meant by Flexible

demerits in detail. ’/ | 6
OR _

Find out from the following data :

(a) Domestic Factor Income

(b) National Income

Exchange Rate ? Discuss Its merits and

Items T (in crores)

(1)  Rent 34,000

(ii)  Interest 27,000

(i) Compensation of Emplovees 1,10,000
(iv) Profit and Dividend 35,000
(v) Mixed Income | 80,000

(vi) Net Factor Income from Abroad 40,000

18
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- Discuss ANy SIX causes of unemployment 1n Indlai‘:«

OR

Write any cix important features of Indian agriculture.
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